(24 — ¥7)

¥ % No.1
iR E % Bl
(R 1] 2v(x +4)x — 1) 5
(89 2) 15 5
-3
) e 5
b= 18
(4 4) 72 EE 5
]
(f&5) 18 6
{1 8] 8 & 6
(5 1) p= L g
2
_ 1 ;
{1 2) a= 13 6
FPOyEEIERL21ZM0, xBEBERRHDY
%IZZIZ I x==x4
APOXEEILER D, x=4
AA0, 3), AP, 127555,
E#RAPORARDBE  y=dx+3 Lk,
ROBESIEEND xOBHOMEI, x-0,1,2, 3 4 LD,
FRENAD 2o T, ] BIUESAPrOAZ SOyEEETRT
YOEOHBE T FhRDEE,
x=0Dr%x 0sys3
_ 3 21
x=10kx 1 SVvE 4
r=2 DEX 3§y§1—25
| 8
(1 3) w=3mkx gy 3
R T x=4 Orx p=12
THEY, ROBEIITESENG yOILEEOEEE TR TR RDBL
x=0DrE y=0, 1,23  OUE
x=1m0r%x y=1,2 34,5 O5@F
x=20Frx y=34,5 6 7 O5@E
x=3DrLx y=7 8 0 DA
x=4 DEEX  y=12 D1
LoT, KB AOERE '
A+5+5+3+1=18(f) (%x) 18 @




il

(24— %)

& - No.2
HEEE S na = Bl
(B 1) g
R
(F 2) _172_ cm 6
[sz8A]
GAOALBASBDOESEELT D,

(74 3]

(1
ARE D

AABCEAADBICHEWTC @R AROT
/BAC=/DAB @
ACABRE= AT Chodhd LAOB=60°
MA&LHR.LAHOBEND
LACB=—%—/_’AOB —30°
¥ /ABD=/ABE
—90° — /EAB
— 90" — 60°
—30°
FoT ZACB=/ABD ---@
D, LD, ZEOABERERZLV S
AABCeo AADB

2

CcIn

«/EJZM/E

(f& 1]

u
5

(7 2]

4y
e

AEHADI REEHFRIL,
AAEHIZ ZAHE=90" OEB=AT,
AE=12em, (EAH =60 Thoinb,
AAEHT AH=6cm, EH=6./3cm
Lo, ZEHFDTRLY
EF!=EH?+HF?=(6./3) +22=42X7T
hiy, EF=4+/7 {(cm)
%iz, AEPFGOEPD T A% 1 213,
AEPFIZ FE=FP ® S = AT, FILEP THEHID,

AEIFC, EF=4./Tcm, EP=12cm #*5 EI=6cm

Wxiz, ZFEHOEEEY EF?=EI*4[F?
IF?=EF?—EI*=(4./7)"—62=22x19

hib, IF=2,/19 {cm)

L##oT, AEPF =7,15 X EP X IF

=%x12x2/\/19
=12./19 (cm?) (&z) 12+/19 cm?

@




